Invoice

939 N Prince Street Lancaster Pa 17603 717-392-0599

Date

Invoice #

1/17/2013

4205

		Mileage	Project	Terms	Due Date
407			Ferrari 330	Due on receipt	1/17/2013
Qty	Item	Description		Rate	Amount
7	Service	Continue wet sanding front half of car, Buff front half		65.00	455.00T
0.75	Service	Mask misc pieces for paint; Prep booth and hang parts to be p	painted	65.00	48.75T
0.25	Service	Assist installing front windshield		65.00	16.25T
3.5	Service	Install right turn marker and heat shrinks connections; Install Polish left and right trim piece at A pillars; Install top trim pi windshield		65.00	227.50T
2	Service	Seal and paint fender insert panels		65.00	130.00T
2	Service	Prep paint booth and decklid for paint		65.00	130.00T
4	Service	Wet sand/polish fender insert panels; Paint left and right inno panels; Mask hood and left and right doors for paint	er door trim	65.00	260.00T
5.75	Service	Fit and install three right air vents and trim; Glue and rivet q door gasket for left at right at top of fender, Clean and install catch and pocket; install door jamb switch; Install left and right emblems (4)	left door jamb,	65.00	373.75T
3.75	Service	Install left air vent gaskets and chrome trim		65.00	243.75T
0	Service	Wet sand and buff one fender insert piece *NO CHARGE*		65.00	0.00T
1.25	Service	Wet sand and buff left and right inner door trim panels		65.00	81.25T
4.5	Service	Continue wet sanding back half of car; Finish buffing car bod Take photos	y; Unmask;	65.00	292.50T
0	Service	Troubleshoot panels *NO CHARGE*		65.00	0.00T
4.75	Service	Finish buffing car; Unmask rear half; Prep booth; Paint doors, decklid	, hood and	65.00	308.75T
4.5	Service	Install trim at A post interior and piece, Install rear view mirr convertible top hold down bracket and left and right top gasks		65.00	292.50T
2	Service	Affix kick panel pads; Install inner chrome strips on right and	left sides	65.00	130.00T
0	Service	Sand left and right doors for clear coat *NO CHARGE*		65.00	0.00T
0	Service	Wet sand hood and decklid for repaint; Paint door, hood and o *NO CHARGE*		65.00	T00.0
5	Service	Prime then paint inside of left rear bumper, Polish license pla on car, Assemble and install both bumpers; Hook up lights; Ir panel and carpet; Affix trunk molding	te then install stall trunk	65.00	325.00T

Terms: Payment beyond terms will incur a Finance Charge of the greater of 1.5% per month or portion thereof (Annual Percentage Rate of 18%), or the maximum amount allowed by law. Buyer agrees to pay any finance charges due and further agrees that in the event collection of any amounts due Seller necessitates suit or action by a collection agency and/or attorney, Buyer agrees to pay all costs of Seller related to said collection, included but not limited to costs of suit and reasonable attorney fees.

Subtotal

Sales Tax (6.0%)

Total

Invoice

939 N Prince Street Lancaster Pa 17603 717-392-0599

Date

Invoice #

1/17/2013

4205

		Mileage	Project	Terms	Due Date
mark to			Ferrari 330	Due on receipt	1/17/2013
Qty	Item	Description		Rate	Amount
4.5	Service	Install left door switch; Clean and install sun visors; Install true bezels and nuts; Install windshield washer nozzles	nk lock, wiper	65.00	292.50T
0	Service	Prep doors for repaint *NO CHARGE*		65.00	0.00T
0	Service	Sand hood and deck lid for re-spray; Attempt to paint again wi assistance-still having issues *NO CHARGE*	th Danyon	65.00	0.00T
2.5	Service	Assemble left and right rocker trim, left and right wheel well of Degrease wheels; Wipe down suspension; Install clean wheels; torsion rods		65.00	162.50T
0	Service	Wet sand hood and decklid for repaint; Lightly sand doors *NO	CHARGE*	65.00	0.00T
0	Service	Paint doors, decklid and hood; Clear coat panels *NO CHARG	E*	65.00	0.00T
5.25	Service	Install right door, outside handle and latch, door locks and asse window frame, outer window fuzzies, door glass and weather s door cover plat to door, Install left door and deck lid	mble vent	65.00	341.25T
7	Service	Wet sand and buff left and right doors and deck lid; Install doo	rs and decklid	65.00	455.00T
	Parts	Masking tape/cover/paper, Primer/sealer, Sand paper, Compour Clear coat, Paint, Self etch primer, Silver spray paint		513.54	513.54T
	Parts	Rubber hood bump stops		99.00	99.00T
	Parts	Shipping & Handling		10.00	10.00T
0	Service	Assist assemble *NO CHARGE*		65.00	0.00T
6.5	Service	Assemble left door, glass, door handle, latch, outside lock, ven mirror, door panel; Adjust door, Glue door weather strip; Instal		65.00	422.50T
6.75	Service	adjust Wet sand and buff hood; Unmask; Install right door panel and l Repair broken tab on 330 emblem; Install Ferrari emblem; Inst hood adjuster rubbers	all hood and	65.00	438.75T
3	Service	Prep car for delivery, Touch up misc areas, Wipe clean; Clean	windows	65.00	195.00T
0	Service	Prep for delivery *NO CHARGE*		65.00	0.00T
4	Service	Install 330 emblem, hood bumpers; Detail car for delivery; Loa car	d and deliver	65.00	260.00T
2	Service	Get radio working; Assist prep to deliver		65.00	130.00T
2	Service	Sand each hood rubber bumper for custom fit (8)		65.00	130.00T
month	or portion the by law. But	eyond terms will incur a Finance Charge of the greater of 1.5% per ereof (Annual Percentage Rate of 18%), or the maximum amount yer agrees to pay any finance charges due and further agrees that in	Subto	otal	\$6,765.04
the eve agency	ent collection and/or attor	of any amounts due Seller necessitates suit or action by a collection ney, Buyer agrees to pay all costs of Seller related to said collection, ited to costs of suit and reasonable attorney fees.	Sales	Tax (6.0%)	\$405.90
			Tota	ıl	\$7,170.94

Invoice

939 N Prince Street Lancaster Pa 17603 717-392-0599

Date

Invoice #

12/31/2012

4178

		Mileage	Project	Terms	Due Date
			Ferrari 330	Due on receipt	12/31/2012
Qty	Item	Description		Rate	Amount
3	Service	Assist moving car to booth; Remove wheels; Mask body for pai take pictures	nt, order paint,	65.00	195.00T
4.25	Service	Sand door hinge cover panels for primer, move car to booth and stands; Mask body for paint	l put on jack	65.00	276.25T
6.75	Service	Finish prepping car in booth; Body work left and right door fram Mask and prime left and right door frames and door hinge cove		65.00	438.75T
7	Service	Dry/wet sand left and right door frames for paint; Block sand right, Block sand hood for paint; Start repair to hood cracks alo	ght door for	65.00	455.00T
6.5	Service	Finish repairs to hood then prime; Repair trunk lid "emblem" n prime; Touch up primer on left fender; Block sand, touch up pri sand left door; Sand trunk lid for paint	narks then	65.00	422.50T
7.75	Service	Start work to fender vent panels and prep for primer, Repair are squirter then prime and wet sand	ea around left	65.00	503.75T
2.75	Service	Prep and start to paint car		65.00	178.75T
0	Service	Prep for repaint *NO CHARGE*		0.00	T00.0
0	Service	Wet sand body for re-paint-Dirt in clear coat *NO CHARGE*		0.00	0.00T
1.5	Service	Base coat body and clear body		65.00	97.50T
3.5	Service	Prime fender insert panels; Block sand, wet sand and paint 6 fe Start masking doors for paint	nder panels;	65.00	227.50T
0.5	Service	Unmask car and remove from paint booth; Re-install wheels		65.00	32.50T
6.5	Service	Put car on jack stands; Wet sand entire body		65.00	422.50T
- 5	Service	Wipe car down; Remove masking tape; Clean head light bucket	s and chrome	65.00	325.00T
		trim rings then install; Wire headlights; Clean and install side install left bumper grommet; Install left bumper; Clean and install trim piece to grill; Install left turn/park light; Heat shrink connections.	all grill; Glue		
	Parts	Masking paper/tape/cover, Thinner, Sand paper, Glaze, Scuff p Panel bond, Primer, Dry coat guide, Clear coat, Sealer	ads, Cleaner,	27.42	27.42T
	Parts	Clear coat		323.80	323.80T
	Sublet	Chrome plate bumper end		350.00	350.00T

Terms: Payment beyond terms will incur a Finance Charge of the greater of 1.5% per month or portion thereof (Annual Percentage Rate of 18%), or the maximum amount allowed by law. Buyer agrees to pay any finance charges due and further agrees that in the event collection of any amounts due Seller necessitates suit or action by a collection agency and/or attorney, Buyer agrees to pay all costs of Seller related to said collection, included but not limited to costs of suit and reasonable attorney fees.

Subtotal	\$4,276.22
Sales Tax (6.0%)	\$256.57
Total	\$4,532.79

Invoice

939 N Prince Street Lancaster Pa 17603 717-392-0599

Date

Invoice #

12/10/2012

4160

		Mileage	Project	Terms	Due Date
			Ferrari 330	Due on receipt	12/10/2012
Qty	Item	Description		Rate	Amount
7	Service	Finish repairs to left and right fenders then prime; Start repa	irs to right door	65.00	455.00T
6	Service	Finish body work to right door and prime; Block sand prime door and fender; Repair and prime newly found areas on left repairs to right dog leg		65.00	390.00T
2.25	Service	Finish right dog leg repair and prime		65.00	146.25T
0.5	Service	Start block sanding right door		65.00	32.50T
1.25	Service	Mask front end for repairs; Mask convertible top for wet san		65.00	81.25T
6.5	Service	Mask and re-prime right door repair; Remove deck lid; Remove from trunk channel lip; Wet sand rear body panel for paint; Sonose; mask trunk opening		65.00	422.50T
7.25	Service	Block sand primer on right door; Finish repairs on nose secti prime; Repair and prime two small areas on rear body panel Cover interior		65.00	471.25T
4	Service	Assist with wet sanding body for paint; Remove both rocker sanding back half of car, Sand left and right lower rockers; S jamb		65.00	260.00T
4	Service	Remove left and right door seals, door latches and trim piece and right door sill covers and plates and trim parts; Remove doors; Remove chrome windshield at convertible top trim; R	left and right	65.00	260.00T
7.75	Service	Continue to prep body for paint; Make repairs, mask and princeded		65.00	503.75T
3.25	Service	Continue prepping for paint; Wet sand right door jamb, front hood jamb; Remove remaining hood hinges from car body	fender, cowl and	65.00	211.25T
7.5	Service	Finish most of wet sanding; Remove underside protective pa masking body for paint; Repair and prime more stone chips	n (front); Start	65.00	487.50T
7.5	Service	Continue to mask for paint; Repair crack in right fender then sand and wet sand right fender repaired spot	prime; Block	65.00	487.50T
0.25	Service	Disassemble part of bumper to be sent for chrome work		65.00	16.25T
	Parts	Sand paper, Filler, Glaze, Masking paper/tape, Primer, Clear Dry coat guide, Scuff pads, Color samples	ner, Panel bond,	224.65	224.65T
	Parts	Custom paint		504.30	504.30T

Terms: Payment beyond terms will incur a Finance Charge of the greater of 1.5% per month or portion thereof (Annual Percentage Rate of 18%), or the maximum amount allowed by law. Buyer agrees to pay any finance charges due and further agrees that in the event collection of any amounts due Seller necessitates suit or action by a collection agency and/or attorney, Buyer agrees to pay all costs of Seller related to said collection, included but not limited to costs of suit and reasonable attorney fees.

Subtotal	\$4,953.95
Sales Tax (6.0%)	\$297.24
Total	\$5 251 19

Invoice

939 N Prince Street Lancaster Pa 17603 717-392-0599

Date

Invoice #

11/28/2012

4127

		Mileage Project	Terms	Due Date
		Ferrari 330	Due on receipt	11/28/2012
Qty	Item	Description	Rate	Amount
2.5	Service	Finalize color formulation and spray out samples	65.00	162.50T
3.5	Service	Remove rear bumpers, tail lamps, license plate and bracket, reflector bezels, trunk emblem and trunk lock; Remove convertible top hold down bracket; Deck lid gasket and radio antenna	65.00	227.50T
6.25	Service	Start body work to left fender and door, Prime left door repair	65.00	406.25T
	Parts	Clear coat, Scuff pads, Sand paper, Filler, Glaze, Primer	42.86	42.86T

Terms: Payment beyond terms will incur a Finance Charge of the greater of 1.5% per month or portion thereof (Annual Percentage Rate of 18%), or the maximum amount allowed by law. Buyer agrees to pay any finance charges due and further agrees that in the event collection of any amounts due Seller necessitates suit or action by a collection agency and/or attorney, Buyer agrees to pay all costs of Seller related to said collection, included but not limited to costs of suit and reasonable attorney fees.

Subtotal	\$839.11
Sales Tax (6.0%)	\$50.35
Total	\$889.46

Invoice

939 N Prince Street Lancaster Pa 17603 717-392-0599

Date

Invoice #

11/16/2012

4103

		Mileage	Project	Terms	Due Date
			Ferrari 330	Due on receipt	11/16/2012
Qty	Item	Description		Rate	Amount
0.5	Service	Estimate for body/paint work		65.00	32.50T
7	Service	Remove left and right front bumper ends; Remove left and and buckets; Remove left and right front fender marker light inner fender well liner on left and right sides; Remove right trim; Remove right fender vent piece; Remove fender emble door panel, door glass, vent window belt molding; Remove mirror and trim at windshield; Remove right outer door han Remove wiper arms, nut and washer; Remove two washers	nts; Remove both t lower body side ems; Remove right e inside rear view adle and lock;	65.00	455.00T
4.5	Service	Remove left fender emblem, sphere and trim; Remove left of window vent, window glass, vent window, hood, front emblems	door panel,	65.00	292.50T
	Parts	Grommet spacers for front & rear bumper and left and right		335.50	335.50T
	Parts	Paint		54.90	54.90T

Terms: Payment beyond terms will incur a Finance Charge of the greater of 1.5% per month or portion thereof (Annual Percentage Rate of 18%). or the maximum amount allowed by law. Buyer agrees to pay any finance charges due and further agrees that in the event collection of any amounts due Seller necessitates suit or action by a collection agency and/or attorney, Buyer agrees to pay all costs of Seller related to said collection, included but not limited to costs of suit and reasonable attorney fees.

Subtotal	\$1,170.40
Sales Tax (6.0%)	\$70.22
Total	\$1,240.62

*** REPRINT ***

CUSTOMER COPY PAGE 1

DATE	YEAR	MAK	E	MODEL	V	IN	STK/CUS	MILES IN	MILES OUT	EAG
08/16/12	67	FERRARI	1 3	30 GTS		9791	51187	50260	50260	-
SERVICE DATE	NO	TIFIED	SVC AD	V PROMISE	D DATE/TIME	LICENSE	RATE	PAYMEN	INV. DA	TE
	08,	/17/12	26		00:00	N7IY		01	08/17/	12
R.O. NUMBER		TA	X ID	HO	ME PHONE	BUSINESS	PHONE			
30338								SILVER		1

OWNER COMPLAINT: FUEL LEAKING INTO TRUNK AREA

*TECHNICIAN VERIFIED FUEL LEAKING INTO TRUNK AREA. REMOVED LEFT UPPER CARPET AND FOUND FUEL RETURN LINE RUBBER LINE LEAKING WHERE IT JOINS COPPER HARD LINE FROM ENGINE. RUBBER NOT WAS VACUUM LINE, NOT FUEL LINE AND HAD NO CLAMPS. REPLACED WITH PROPER FUEL LINE AND ADDED CLAMPS AS NEEDED.

*TECHNICIAN ALSO INSPECTED RUBBER RETURN LINE FRON FUEL RAIL TO COPPER HARD LINE IN ENGINE BAY, FOUND IT TO BE VACUUM HOSE AS WELL. REPLACED WITH PROPER FUEL LINE.

Total Misc

Total Line

Bill Code - F

99 LABOR 35 M A Total Labor 278.00 278.00

MISCELLANEOUS:

SHOP INV: FERRARI- 2 SMALL HOSE CLAMPS, 3 FT. 3/16 FUEL HOSE, SPRAY GLUE

Bill Code - F PO Number -

8.05

8.05 286.05

Payment Type - 01 CASH 303.21

ON BEHALF OF SERVICING DEALER, I HEREBY CERTIFY THAT THE	STATEMENT OF DISCLAIMER	LABOR AMOUNT	278.00
INFORMATION CONTAINED HERON IS ACCURATE UNLESS OTHERWISE SHOWN. SERVICES DESCRIBED WERE PERFORMED AT	THE FACTORY WARRANTY CONSTITUTES ALL OF THE WARRANTIES WITH RESPECT TO THE	PARTS AMOUNT	
NO CHARGE TO OWNER. THERE WAS NO INDICATION FROM THE APPEARANCE OF THE VEHICLE OR OTHERWISE, THAT ANY PART	SALE OF THIS ITEM/ITEMS, THE SELLER HEREBY EXPRESSLY DISCLAIMS ALL WARRANTIES	MISC. SALES	8.05
REPAIRED OR REPLACED UNDER THIS CLAIM HAD BEEN CONNECTED IN ANY WAY WITH ANY ACCIDENT, NEGLIGENCE OR	EITHER EXPRESS OR IMPLIED, INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE, SELLER	MATERIALS	Malvers
MISUSE. RECORDS SUPPORTING THIS CLAIM ARE AVAILABLE FOR (1) YEAR FROM THE DATE OF PAYMENT NOTIFICATION AT THE SERVICING DEALER FOR INSPECTION BY MANUFACTURER'S REPRESENTATIVE.	NEITHER ASSUMES NOR AUTHORIZES ANY OTHER PERSON TO ASSUME FOR IT ANY	TOTAL CHARGE	286.05
	LIABILITY IN CONNECTION WITH THE SALE OF ITS ITEM/ITEMS	DEDUCTABLE	
		SALES TAX	17.16
(SIGNED) DEALER, GENERAL MANAGER OR AUTHORIZED PERSON (DATE)	CUSTOMER SIGNATURE	OTHER PAY	
	>	CUSTOMER PAY	303.21

CTTCTCATCD	CODE	DROD	-
CUSTOMER	LIDY	PAGE	92

DATE	VEAR	MAi	Œ		MODEL	v	IN	STK/CUS	MILES IN M	ILES OUT TAG
06/26/12	67	FERRAR	I	330	GTS		9791	51187	50254	50255
SERVICE DATE	NO	TIFIED	SVC	ADV	PROMISED	DATE/TIME	LICENSE	RATE	PAYMENT	INV. DATE
	08)	/13/12	26	5		00:00	N7IY		01	08/13/12
R.O. NUMBER		T/	AX ID		ном	E PHONE	BUSINESS	PHONE		
30157									SILVER	1

OWNER REQUEST: PERFORM FERRARI CLASSICHE CERTIFICATION INSPECTION *TECHNICIAN PERFORMED FERRARI CLASSICHE CERTIFICATION INSPECTION Bill Code - F 26 M A 4620.00 99 APPLICATION 1390.00 35 M A 99 LABOR 6010.00 Total Labor Total Line 6010.00 ------ REPAIR LINE 002 ------OWNER REQUEST: INSTALL NEW CARPETING IN TRUNK COMPARTMENT & INSTALL NEW RUBBER TRIM ON FLOOR MATS *NEW CARPETING & RUBBER TRIM FOR FLOOR MATS INSTALLED Bill Code - F SUBLET: GARY MAUCHER UPHOLSTERY M 1700.00 Bill Code - F PO Number -Total Sublet 1700.00

8172.60

ON BEHALF OF SERVICING DEALER, I HEREBY CERTIFY THAT THE INFORMATION CONTAINED HERON IS ACCURATE UNLESS OTHERWISE SHOWN. SERVICES DESCRIBED WERE PERFORMED AT NO CHARGE TO OWNER, THERE WAS NO INDICATION FROM THE APPEARANCE OF THE VEHICLE OR OTHERWISE, THAT ANY PART REPAIRED OR REPLACED UNDER THIS CLAIM HAD BEEN CONNECTED IN ANY WAY WITH ANY ACCIDENT, NEGLIGENCE OR MISUSE. RECORDS SUPPORTING THIS CLAIM ARE AVAILABLE FOR (1) YEAR FROM THE DATE OF PAYMENT NOTIFICATION AT THE SERVICING DEALER FOR INSPECTION BY MANUFACTURER'S REPRESENTATIVE.

(SIGNED) DEALER, GENERAL MANAGER OR AUTHORIZED PERSON (DATE)

Payment Type - 01 CASH

THE FACTORY WARRANT
OF THE WARRANTIES WIT
SALE OF THIS ITEM/ITEMS.
EXPRESSLY DISCLAIMS
EITHER EXPRESS OR IMPLI
IMPLIED WARRANTY OF
HITHES FOR A PARTICULA
NEITHER ASSUMES NOR
OTHER PERSON TO ASS
LIABILITY IN CONNECTION
ITS ITEM/ITEMS

STATEMENT OF DISCLAIMER

Total Line

CUSTOMER SIGNATURE

NTY CONSTITUTES ALL WITH RESPECT TO THE	PARTS AMOUNT
MS. THE SELLER HEREBY S ALL WARRANTIES IPLIED, INCLUDING ANY MERCHANTABILITY OR ULAR PURPOSE. SELLER OR AUTHORIZES ANY ASSUME FOR IT ANY ION WITH THE SALE OF	MISC. SALES
	MATERIALS
	TOTAL CHARGE
	DEDUCTABLE

Taket Danie Color	The same of the sa
MISC. SALES	1700.00
MATERIALS	
TOTAL CHARGE	7710.00
DEDUCTABLE	
SALES TAX	462.60
OTHER PAY	

6010.00

8172.60

LABOR AMOUNT

1700.00

CUSTOMER PAY

INVOICE TOTAL BASSIES

SOLD TO: ADDRESS: CITY, STATE, ZIP CUSCORR', CORDER. SOLD TO: TURNS: TU				SHIPPANTASY OUNCEONS					
				ADDRESS PHAK INE CHEMERY VILLE 94608					
			THANK						
QUANTITY			DESCRIPTION			PRICE	AMOUNT		
1	PRICE	PREMISE IN	PROT CAN	2					
2	CA	12 IS SILVER	2 with M	KOWM	BWE LEATH	er tr	CIAN PANO		
					RW 4039				
4				The second second	VR 14 MICH				
1					WITH RNGUS				
6					AL BRIDGE T				
7					A CUNK in	A STATE OF THE PARTY OF THE PAR	The second secon		
8	WHILE	BACKING CA	re From	A STOP	HOTOR RU	vi woz	ut viciny		
9	6000 F	PONEZ-NOS	HOKE T	TEHNSH	ISSUM SHIPT	S wan	FROM		
11			GOOD PONEZ - NO SMOKE TRANSMISSION SHIFTS WELL FROM						

PATRICK OTTIS

SOLD TO: ADDRESS:	ADDRESS:
CITY, STATE, ZIP	CITY, STATE, ZIP
TISOGTS 9791	MS: 2951641 65 November 8
QUANTITY DESCRIP	TION PRICE AMOUNT
DRIVELLES WHILE BACKS LET CARR, INSPECT CORROSION DAMAGE. I DRIVELLE WHILE BACKS IN PIGHT HALF SHAFT DRIVELLE BACKS IN PIGHT HALF SHAFT DRIVELLE BACKS SOME USE. BLACK OPEN	WHILE COINTS DOWN ROAD. BRANCES SUSPENSION IS COMPLIENT - RYCHURNT DIMENTS WORK, INCLUDING CLOCK, CHASSIS - SUSPENSIONS FOR COUNTING HUPSTIGATE REASONS FOR CLUNK IN LUC AND TRACK TO WOSE U. JOINT (OUTER), CHASSIS HAS BETT CORRECTLY ME AGO AND SHOWS A NICE ATTIMA OF E FASTENERS ON CHASSIS AND IN BUSINE OF OXIDATIONS. DRIVE LINE VERY

SOLD TO: ADDRESS:			ADDRESS:	water June	aoni
CITY, STATE, ZIP			CITY, STATE,	, ZAP	
330005	12731	TERMS:	1	49516 HI	07 November
QUANTITY	DI	SCRIPTION			PRICE AMOUNT
	- OIL FREE D	Carlo			
	huppychia as a			The state of the s	DS ABOVIE
			The Control of the Co	The state of the s	m compaession
5		12	#1	180PS	THE RESERVE THE PARTY OF THE PA
6	180 051	- 11	M aZ	. 180 PSI	
7	180 PS 1	n 10	-11-3	185 PX	1
8	18SPS1	43	1 4	185PI	1
9	185881	. 8	115	180 05	
10	185P11	47	¥ 6	, 180PS	

PATRICIC OTTIS

INVOICE NO.

ADDRESS:	ADDRESS:
CITY, STATE, ZIP	CITY, STATE, ZIP
CUSTOM SOUTH	49516 MI 67 NINEMBERIE
QUANTITY DESCRIPTIO	N PRICE AMOUNT
UNDER THE HOOD, VERIFIED VERY CORRECT IN ORIGINAL TOUS IS A LOURLY 330 VERY HIGH STANDARD SON THIS CAYS FOR THE LAST STEPERING GRARBOX REBURE HICHMANIAL FURL PURP PRI THE CAYS COLUMN WITH	GTS THAT WAS RESCORTED TO A ARE MEMPS AGO. WE HAVE SERVICED T SEVERAL MEMPS TO WELDE A DO WHE NEW WORM & PEG. AM B A

SOLD TO:

SHIP TO: PANTAS-4 UNCAS-J
ADDRESS:
CITY, STATE, ZIP

DESCRIPTION PRICE AMOUNT

TOOL BAYS WITCH SOME CRIGINAL TOOLS, BUT NOT COMPUTED.

INTERRESTMENT THERE IS A SECOND JAKK BAG WALL A SHOK BAYD

WHELL DUT WERNELD HAT APPREPRIATED TO THAT CATZ. THE SPINCE

IS A MATCHING DIRECT WHEEL.

JUDGE THE CAM USING THE NATIONAL ADVISORY CONST.

FOR PRESIDENTIAL OF THE FERRAL AUTOMOSING. THIS CATZ.

WOUND SCORE IN THE LAW SO'S. SOME OF THE ISSUES WOUND

BK STRAIGHT FORWARD. WIDER THE HOOD, SPARK PUGG WIRE

ENDS, IGNITURE COILS ARE INCORREUT ALONG WATH ONDITIED.

PATRICIC OTTES

305994

SOLD TO:
ADDRESS:
CITY, STATE, ZIP

CU336 675 S09391

SHIP TO: FANTASY JUNOTUM J ADDRESS: CITY, STATE, ZIP

GUANTITY

DESCRIPTION

PRICE AMOUNT

THE CARE HAS BEEN RESCORDED, THE RESTORATION IS NOT FREEH.

IT SUFFERS SOME FROM THE FACT THAT SHOWS ENDEADER OF

USE (WHICH IS GOOD) BUT CONDITION OF PHINT, PHIANG, PARD

TRAM COULD GET SHIP SHIPT DEDUCTION. THE OPERATION OF ALL

REPOTRIES AND CONTROLS EVACTION NORMANY.

SUPPLAISOR INCOMES TIME PAR INSPECTION

AND JUDGING PEAR NAC/PEA GUIDPUNES

4.0 WAS CITO

NVOICE

PHONE NO. : 510 849 3553

Aug. 09 2008 01:32PM P1

INVOICE NO.

305844

1220 TENTH STREET
BERKEVELLY CALIFORNIA 94710
BARNO AK 120777

717 517 6083	
50	SHIP ITANTASY JONOTION
AD	ADDRESS:
CI .	CTEV, STATE, ZIP
CUSTOMER'S OKDER: SOLD HV	THINK YOU SOZZOM OG AUGUST OF
32013	DESCRIPTION PRICE AMOUNT
5 LANDERS FOR BO	RIBOT METHUL. (MEDIUM BUNE) WITH LIGHT TONI PANKLS), BLACK CARPET & TONNEM FOR GOP ALVE CONDUTIONED ON BORRANI RW 4033 WIRE WITH PROPER MICHEUM ZOS WR 14 TIZES, DY-PANT AND CHROME BYTRHEM MICK.
9 Reace Harris	RS. WEAS AUTHENPTONE AND HOSE CHAMPS. AT OPERATURE TEMPERATURE, ROMOVE

PARTECK OTTIS

INVOICE NO.

305845

SOLI		11	FAME	127 70	NOTES	~	
ADU			ADDRESS:				
cm			CITY, STATE, Z	IP.			
Cradoras Conden	5010 BY 9 9	TERMS:		56270	н	009 A	6057 0
QUANTITY		CRIPTION				PRICE	AMOUNT
1 Comes	- PWGS, COLNER	UT BATTE	an Cum	BER O	Pen-	TUROTT	E
	C MUTCH COMPRE						
3	#12 2001		1 195	129	26- 1	<u> </u>	
4	w11 190		190	129	# 2		
5	10 195	PSI	190	1251	03		
6	. 9 190	P\$1	190	179	4		
7	. 8 130		185	PSI	, 5		
1 8	· 7 195	PSI	185	PSI	# 6		
1 9 Down	THE SPACE PERC	S A Tell	ಎ೯_			1	-
10 1	AFT CARE MANS	MEPRUT	CHASSIS F	eve ca	usic	2/00	COAGC

NVOICE TAXABLE INDICATE

INVOIC

INVOICE NO.

2006:00

1	4
U	9
	PEDFORM
0	w
>	620
	4
Z	17215200

SOI	SHIP TO: FANTARY JUNOTION				
AD	ADDRESS:				
	CITY, STATE, ZIP				
CII					
CLISTOMER'S ORDER: SQLD EX-99 TERM	MS: SEZZONI 09 AVGUET 08				
30013	TION PRICE AMOUNT				
	PARES HOWE BEEN COMPLETEN APART AND				
I ISSUES SUSPENSION, BK	CHICKS GROUP SCENE COMPANY NOTE				
2 DESTORED, BUT SOME MIL	LES AGO. CONDUING APPEARS VEYEN NICE				
3 AND PROPERT BUT NUT A	STEWS. ONLY FAUUT SEEDS IN CHASTIS				
4 OUSTODATION IS THE THE	OR STURRING LINKS MED PAINTED BLACK				
5 WETTERD OF PLATED THAT	PHOSPHATE, LINER PADENTARY HOSES!				
Share was a second blanch	Z WHATER MATCHES CHASTIS - INTERENT				
MEE INCORDIA FOR	WERE PURP SEEPS SUGUELY SCORUS				
NUMBER 15 3085; WI	News 1004 - Sept a				
. 8 ON FROM INNER FENDRA	I INCORRECTS				
9 ROAD TERT CATE TO	SAN RAFARL BRIDGE TO ASSESS				
10 DOWARILIEN AND OPER	ACIONI. MISTOR PUNT WITH GOOD POWERS				
PROPERCY OTHS	INVOICE NO.				

INVOICE NO.

SOLD I			SHIP TO:		
ADDR			ADDRESS		
C3TY, S			CITY, STATE, ZIP		
CUSTOMER'S ORD	1590599	TCRMS:		Stroni	"8'S AUGUST US
COMMONTO	10	ESCRIPTION			PRICE AMOUNT
2 3 4 5 6 7 8	NO SMOKE, TRANS FROM POWERS ASSIST DOVARDAY - ENTEN THE WARDON OPERATORN CARE COMES WE BROWN JACK BAG SEVERAL WEENERS	COOP.	MOUND B MOUND B MC THE OBSCIONE ORSE VIEW E HOMOVE OVERTEN	BROWN: TOUL	ROW POWER THE LEVE I A CARE CONEYCE IC. THE SPACE
1 10	IS A WUZK WHENL T	WIT FIR	TCHICK	THOSE OF R	

PATRICK OTTS

INVOICE NO.

305848

SOLD T				SHIP TO:			
ADDRI		-		ADDRESS:			
CITY, 5	,			CITY, STATE, ZIP			
CUSTOMER'S	CHOPP	5018 9 9	TERMS:		56270HI	185 A	ieus 7 08
QUANTITY		D	ESCRIPTION			PRICE	AMOUNT
	3 Pesto	EATON.	nzievi. C	erz. Bo	THE IN ITS EST	NETIC I	PEARAN
	6 THE CA	THE CON	e woul	O ALMIS	TASSURADU	BEA	Purney
	BWWI	F SUBGED TO THE BEAKE O	PERMI	n less s	KNOTHIK	president.	
					28 C 120		360

INVOICE TUZZESCIENT

PATRICK OTTIS
1220 TENTH STREET
BERKEVEY, CAMPAZNIA 94710
BARNO AK 120777

305632

SOLD ADDI CITY,

SOLDEN SI

SHIP TO: 415 663 8119
ADDRESS:

CITY, STATE, ZIP

QUANTITY

TERMS YOU

4874ZMI 25 APPUL 08

QUANTITY

DESCRIPTION

PRICE AMOUNT

OBAPP 1 INVESTIGATE POTTINTIAL FURL WITHE, MUTOYZ, NO CRANK STURTION.

PREMONE SPAYER PWGS, TRACE MUTOYZ LOCK SITUATION TO FORC

HYDROSTATICAMY WOCKED CHIMPRAI 4 1 4 H Z FROM FLOODED

4 H I CAMBURATOR, SODA BLAST, CLEANN SPAYER, PWGS - INFOME

FORONE & CONNEUT, ROAD TEST CAMP TOWAYD'S SAM RAFARL BRIDGE

WET CAYZ, DRAIN MOTOYZ ON, ADJUST CWILLA PREDAL FREE PLAY

SECURIT LOOSIZ/RATUNG RYMAUST SYSTEM. INSTAU AND SAFTRY

WIRE DRAIN PWG, FUL MUTOYZ SUND WITH BRAD PRINA MUTOX

OIL, CURRY CODIANT AND BRANCE FWID LEVELL. CURRY.

PATRICK OUIS

INVOICE NO.

305633

SOLE ADD

SHIP TO:

ADDRESS:

CITY, STATE, ZIP

VVOICE REDICIONS

CUSTOMER'S C	ORPES.	⁵⁰⁴⁴ 91	TERMS:	2874Z MI	25 April 08
QUANTITY			DESCRIPTION		PRICE AMOUNT
	1 PROPRIE	y. Cyper	- OIL LEVEL	IN STEETPURE GENER	BOX - TEMPTY !
	2 NEVEZ F	wen? Ful	STREPLING GO	enribox - Innicolator	my BROWS
	3 LEAKING	From Boat	SEALS, ADIU	KT STETERING GEM	RBOY - NOTCETY
	4 AT CENT	er POSUTION	- RECOUNDARY	D REPLACEMENT OF	EGEMESET.
	5 NOOK PUN	Y IN STEER	INTO - LLUB 15	WOSE ON SHAPT!	4.0
OG MPR.	6 NOTE ON	erevieut m	LGERM OIL U	CAKED OUT OF STE	Enwe Box.
	7 ROWES	TERRINE WI	HELL - PROMINTE	WB FOR STERRIN	is without -
	8 NOTE NO	or was find	RR 7164T.	INSPECT CANCELLIN	6 PMWC FOVZ
	TURN SU	WAL Survey	4 - OKLENTER	0 180° OFF. ORIEN	VT PMUL
	CORRECT	us - curno	GREASIT OF	OF HUB TAPIER, IN	some ours.

SHIP TO: SOLD ADDI ADDRESS: CITY, CITY, STATE, ZIP CUSTOMER'S ORDER SOUP BY 91 25 April 08 4874ZM QUANTITY DESCRIPTION PRICE AMOUNT 1 SECURE RUTE NOT MY STEURTE WITH LOCKPUTE. INSTALL STEEPING 2 WHERE REMOVE BATTERY, CLEAN CORROSION FROM BATTERY 3 TERMINAL CUMPS, INSTALL CORRECT SIZED BATTERY. REMINE 4 CARB AND BOX. REMOVE CARRESTOR TOPS. CHRENE FLORT 5 HELGYTS - AN AT FACTORY SPEC. REPLACE WORN NECTONE/SENT 6 ASSEMBLES. CUPICK FLORT HRIGHTLS OPEN & CLOSED, INFORM CAMB TOPS. CONVECT FURL PAIL - CHRCIC ML FOR WARE - 6000 8 INSTALL CARB AIRBOX - NOTE, NO FLUTER ELEMENTS IN AIRBOX 5.0 9 ORDER STEERING GENERAL GRAM SET FROM THE NETHERLANDS 10 APR 23 APR 10 WET CARE, REMOVE WETT FRONT ROAD WHERE UNBOUT

PATORICE OTTIS

INVOICE NO.

SOLD	SHIP TO:	
ADDF	ADDRESS:	
CITY,	CITY, STATE, ZIP	
CUCTOMENIC ODDER	Trong Iron	DATE

CUSTOMER'S ORDER:	⁵⁸ भूभे छ।	TERMS:	4874Zm	25 AP	nu 08
QUANTITY	D	ESCRIPTION		PRICE	AMOUNT
2 PA 3 PR 4 INS	RUES. REPAIR DAM WIOUS REMOVAL. THE NEW PIES AN	MGE TO SEC INSTALL NEW MO BEARINGS	CONTER GASKIET AND CU	LM NR	T FROM S GENZA ZMBLE
	TRU				6.0
8 GE	WBOD . MARK WOR	M GENZ SUM	PICANT (ON BRICH) TO WOTH CENTERING	HIPTER	, CLEMN
			UMI SUCH THAT ST		

SOLD	SHIP TO:
ADDI	ADDRESS:
CITY,	CITY, STATE, ZIP
CUSTOMER'S ORDER: SOLD BY: 9 TERMS:	4874ZM 25APRIL 08
QUANTITY DESCRIPTION	PRICE AMOUNT
SPECULAR AM STRITEME BOD PA BOWL, ADJUST STREPLING (WITH STREP GRANBOX. SPECULA 5 COTTER PIN PITMAN ARM MAYO 6 LEFT FRONT ROAD WHERE, 7 CAYS. STREPLING WHERE POSU 8 SUGAT 'POPPING' NOUSE PA 9 WHERE. LOOSEN COWMIN U.	STRNIERS. INSTAND FURL FLUTURE. STRNIERS. INSTAND FURL FLUTURE. COWNED UNDER DASH TO MATE CORRECT. E AND SAFTEY WHERE U. JUNT BOWTS. U. JOINT FLANGE BOWT. INSTAND TORQUE ALL WHERE NOTS. ROAD TEST TOOM SLIGHTLY LEFT DOWN. NOTE TOM COWNED WHEN TURNING STEERING JOINT AT SPLINK - STILL MAYER POPPER DIST. TO STEERING COWNED SLIDING

PATRICK OTTIS

INVOICE NO.

SC		SHIP TO:		
A		ADDRESS:		
С		CITY, STATE, ZIP		
CUSTOMER'S	OR (ORDER SOLDER'S I TERMS: FORTALLIA	25 A	Pen 08
QUANTITY		DESCRIPTION	PRICE	AMOUNT
	1	1 UP MY DOWN IN COWING BEARINGS. PREMIUES	TERRE	v6 where
	2	2 WB AND WHERE. WBRIGHTE STERRING COWMIN SH	NPT.	SECURIE
	3	3 Surroums.		6.0
25 MPRIL	4	4 INSTALL STEEDENG WHERE INB AND STEEDENG WY	HEEL	. insom
	5	5 COWMU PINCH BOUT AT U JOINT YOKK & SPECURE	wra	4 Cottorer
	6	6 PW. INSTORE TRUM UNDER STEERING COWMIN.	NOT	CON
		TEST DRING YESTOMONY, FISPA MACHINICAL FURL		THE RESERVE AND ADDRESS OF THE PARTY OF THE
	8	8 FURL, WET CAM, DRAW PURL FROM TANK, RENIN	HE ME	commenc.
	9	" RUPL PUMP, CLEAN MYD DISASSEMBLE. SURFACE I	FUT	MATCUNG
	10	10 SURPRENS OF PUMP BOM. PNOT ROD IS LOOSE	IN B	Bopy.

PATRICK OTIS

INVOICE NO.

SOLE	SHIP TO:
ADD	ADDRESS:
CITY	CITY, STATE, ZIP

330005	न्द्रम् ।	TERVIS.	148745 M	25 APRIL 08
QUANTITY		DESCRIPTION		PRICE AMOUNT
1	SHOP LAR	sor 27.04	28 C100	Z300~
2				
	UP ZAF INTER			89 95
490	TE BRAD PRNN	20.50 note	mou es=	45 00
	RAM 2804.1 OIL			43 30
6 3w	THER WERDLE	SPAT ASSRA	1BUZS 79519, 175	ezi50 64 50
			EBULDKIT 95180	
8				
9				
10				

SOLD	SHIP	SHIP TO:				
ADD	ADD	DRESS:				
CITY,	CITY	CITY, STATE, ZIP				
CUSTOMER'S ORDER SOLD TY 9 1	TERMS:	4874ZM	25A	pru 08		
QUANTITY	DESCRIPTION		PRICE	AMOUNT		
DEW WORM/PEGS SHIPPING CUSTON STREMANG BOY SE 140 GENT OUF 6 7 8 91 OCTANE FUEL WASH DETAIL CAN	MS CHARGEER ALSET 18783 ON STEEDING GRE PANOTS TOTAL TRY ON PARTS	2.	was was	2650 58 50 5 65 3081 5 269 66 28 5		

PATRICK OTTS

1220 TRUTH STREET

BERKEUEM. CAUFORNIA 94710

BARNOAKIZO777

305555

ADDI CITY,

SHIP TO: 415 663 8119
ADDRESS:
CITY, STATE, ZIP

CUSTOMER'S ORI	75	9791	TUANK YOU	48601111	26 m	mc4 08
QUANTITY			DESCRIPTION	TOTAL CONTRACTOR	PRICE	AMOUNT
1	PEROVE	cunse inspi	TET CM			
2	CAR	IS SILVER	(WITH A SUGIT	GREEN HUE) with	DARK
3	1 41 1		M MUD CARPET,	,		
			OR THE ZOSVI			
1000			MEONDITIONED			
6			THE 4000, VERY			
7	CHASSI	S. NOTE BI	HTTERM SIZE INC	pracer ver	y coppu	cor
8	IN OPER	INPUTY UND	HERE THE 4000.	WUTH MOTOR	1701	renture
1000			HNE SPARK P			
10	CHM 60	O DERNIT	WHOTELE CHEEK	MITTER COM	marce	T la

PATRICK OTIS

INVOICE NO.

305556

SOL		
ADI		
CIT.,		

SHIP TO:
ADDRESS:
CITY, STATE, ZIP

CUSTOMER'S ORI	See See	791	TERMS:	486	OLHI	26 M	mau 08
QUANTITY		D	ESCRIPTION			PRICE	AMOUNT
1	#12	200 PS	12	190PS1	bě 1		
2	u }(195 PS	S1 N	190851	42		
3	N 10	200 PS	31	195PS1	#3		
4	49	200 PS	51	195PS1	44		
5	a 8	200 PS	31	195PS1	45		
6	D.T.	200 P	21	190851	16		
7	SODA BUAR	T CLEM	SPANK PL	ocs, REINST	W. 70	ROUE	AND
8	CONNECT.	CHRCK	AIR PRR	SSURE IN TH	ZES (1	8-191	6)
9	ADJUST ALL	- FRESSUR	255 TO 30	LPSI, ROMO	TRIT	CANZ -	to
				TUZ RUNS WYZ			

INVOICE 71/21 C 2004 PEDFORMS

SOLD	SHIP TO:
ADDI	ADDRESS:
CITY,	CITY, STATE, ZIP
CUSTOMER'S GREETS SOLD BY 91 TERMS:	248601H1 26 MARCH 08
QUANTITY DESCRIPTION	N PRICE AMOUNT
1 POWER, TRANSMISSION IS A	A DELIGHT, STEEDENS SEEMS A WELLE
2 LOOSE, BRAKES EFFROTWA	E MAD GOOD. SUSPENSION IS COMPUTENT
	LINSTAUMENTS WORK, CLOCK HAS
4 QUARTZ MOVE HEW T.	
	CHASSIS SUSPENSIONS FOR COULSIONS/
	US HAS BEEN COMPUTED RESTORED
	IF SOME USE, BLACK OYEDE
	IND IN ENGINE BIM SHOWS KNIDENCE
	I VERY DRY - OIL FREE , EXHAUST
4.0	OT STAINLESS STERN SYSTEM.

PATRICIC OUTS

INVOICE NO.

SOLD			SHIP TO:			
ADD			ADDRESS:			
CITY,			CITY, STAT	E, ZIP		
CUSTOMER'S ORDER	59791	TERMS:		48601 MI	26 14	ANC4 08
QUANTITY	D	ESCRIPTION			PRICE	AMOUNT
				E SUGHT PU		
	6 GRANBOX		- (3 SOP)	2 3000 (70	N-1 IN	
4 Tite	COSMETIC	CONDITION	NOF BO	TU OUTSUDE D	NO INS	IOR
	A STATE OF THE PARTY OF THE PAR			CUMONE, THE	The state of the s	
				E AMEM RI		
				THAT IS PROP		
				A SUPPLEMENT		

SOLD ADDI			SHIP TO: ADDRESS:				
CITY,				CITY, STATI	E, ZIP		
CUSTOMER'	G82	5979 i	TERMS:		4860141	26 H	ARCHOE
QUANTIT	Y	I	DESCRIPTION	Lancian III		PRICE	AMOUNT
	2 THS 3 3306T 4 THS PR	MAY BE O	NE OF THE VIE SEEN VORSENCE	IN YEAR! GOOD VA	S BOOK OR M	mp i	Dewus
	10	Sua	P LOBOR	2 - NONE	- GOODWER	ENT	nu!

GRAN TOURING CLASSICS INC.

FERRARI REPAIR & RESTORATIONS 2780 Temple Ave., Long Beach, CA 90806 (562) 290-0110

(562) 290-0110 Bar Registration Nr. AK196943

Customer Phone No:

Invoice Number:

21125

Invoice Date: Dec 18, 2003

Page:

Invoice

Customer ID	Payment Turing
808113b	c.o.p.
Shipping Method	Due Date
Airborne	12/18/03

Sold To:

Year / Model 1947 Fee ani 3306TS Mileage 45,618 mi.

N/A V.I.N. #9791

Quantity	Description Unit Price	Total
PAR	RTS	
1.00		1.70 54.7
1.00	Front Brake Caliper Kit 87	7.20 87.20
1,00		8.10
1.00 set		3.90 73.90
1,00 set	Rear Brake Pads 54	1.75 54.79
1,00 set	Park Brake Pads 48	3.85 48.8
2.00 qts.	ATT Dark Clin St	1.50 23.0
1.00	THE COLUMN THE PROPERTY OF THE	2.10 92.10
1.00	200	5.85 265.8
1.00	Towns of the state	7.35 17.3
2.00.	Daniel Land Control of the Control o	2.20 44.4
1.00	Chiffe I am D. A.	3.90 13.9
2.00 can	N. U. Alexander Company of the Compa	5.50 13.0
4.00 qts.	0E(00 + C 0)	1.50 58.0
2.00	C . II 15 45	5.00 470.0
4.00	A.L. 11 T. L.	2.10 88.4
2.00.	Aula Danta	3.25 36.5
2.00.	Avia Dales	7.10 14.20
1.00	1-45 Park	5.00 155.0
1.00	Ned Side Side and the Side Side Side Side Side Side Side Sid	
1.00	chita Dad Dad	5.00 75.0
	47	7.90 47.90

12-23-63 # 6366 Invoice Due Upon Receipt

Subtotal Sales Tax Shipping & Handling TOTAL Continued
Continued
Continued
Continued

GRAN TOURING CLASSICS INC.

FERRARI REPAIR & RESTORATIONS 2780 Temple Ave., Long Beach, CA 90806 (562) 290-0110 Bar Registration Nr. AK196943

Sold To:

Customer Phone No:

Invoice Number:

21125

Invoice Date:

Dec 18, 2003

Page:

uye

Customer ID	Payment Terms
808113b-	C.O.D.
Shipping Method	Due Date
Airborne	12/18/03

Year Model

1967 Fertari 3306TS

Mileage

45,658 mi.

N/A V.I.N.

#9791

Lic. #

Total Quantity Description Unit P REPAIR ORDER-LABOR INSTRUCTIONS-OUTSIDE PROCESSIN 1.001.] 325,00 325,00 Sublet repair starter motor. 1.002.] Sublet repair Lucas alternater 290.00 290,00 Repair & detail brake booster assembly. 1.00 -Sublet brake booster repair. Modify booster ass by for more efficeent 380.00 380.00 boosting effect. -Disassemble, clean, repair and fit new seals in monter brake cylinder. -Work & adjust brakes & balance untill most effective braking is achieved. Sublet repairs to original Becker Mexico AM/FM/Cassette radio. 325.00 1.004.] 325.00 Final assembly of transaxle. Fit new synchros, etc. Paint & detail. -Fit transaxle in car. -Fill with gear oil. 6.] Repair and fit new u-joints & boots in axles. Detail. Assemble driveshaft torque tube assembly. 7.] -Fit assembly in car. 8.] Assemble & detail shifter & rod assembly. -Fit new shift rod bushing. -Fit shifter assembly in car & adjust as necessary. Final fitting of exhaust system & hangers. 335.00 1.0010.] Repair LH knock off & chrome plate. 335.00 11.] Fabricate Interior Visor bushings , assemble & fit to car. 12.] Fabricate rocker molding tabs. Fit stainless rocker trim to both sides. 13.] Perform precision 4 wheel alignment.

> Subtotal Sales Tax Shipping & Handling TOTAL

Continued
Continued
Continued
Continued

GRAN TOURING CLASSICS INC.

FERRARI REPAIR & RESTORATIONS 2780 Temple Ave., Long Beach, CA 90806 (562) 290-0110

Bar Registration Nr. AK196943

Customer Phone No:

Invoice Number:

21125

Invoice Date:

Dec 18, 2003

Page:

3

Customer ID	Payment Verins	
808113b	c.o.t.	
Shipping Method	Due Date	

12/18/03

Airborne

Sold To:

/ Model 1967 Fee ari 3306TS 45,658 mi.

Lic. # N/A V.I.N. #9791

Quantity		Description	A A	The state of the s	Unit Price 🐛	Total
67.10	HOURS LABOR	111			78.00	5,233.8
	Total Labor \$ 5,233 Total Parts \$ \$822	in a				
	Total Outside Process. \$ 1,655				and the second	,
						4
	(1)					
		1/	ar All Park			
		11			<i>a</i> '	

Subtotal Sales Tax Shipping & Handling TOTAL

8,710.90 150.32 63.90 8,925.12

FERRARI REPAIR & RESTORATIONS 3841 Catalina St. #A, Los Alamitos, CA 90720

> (562) 596-9242 Bar Registration Nr. AK196943

Sold To:

Customer Phone No:

Invoice Number:

21035

Invoice Date:

Feb 6, 2003

Page:

age.

Customer ID	Payment Terms
808113b	c.o.b.
Shipping Method	Due Date
Airborne	2/6/03

Year Model
1967 Ferrari 3306TS
Mileage
45,658 mi.

Lic. # N/A V.I.N. #9791

Quantity	Description #	Unit Price	Total
PAF	rrs	25	
2.00.	Rear Valance Reflecters 62mm QD	\$ 110.00	220.00
1.00 set	Battery Cables with Lead terminals	191.00	191.0
2.00	Temperature Sending Unit Boots	17.25	34.5
1.00.	Battery (+) Terminal Boot	55.00	55.0
2.00.	Clear Back Up Light Lenses; Used	10.00	20.0
1.00.	Master Brake Cylinder Kit	65.70	65.7
2.00	Carello Head Lamps	235.00	470.0
2.00	Updated Head Gaskets	250.00	500.0
2.00	Head Gasket; Credit	150.00	300.0
1,00	Upper Radiator Hose	11.50	11.5
1.00	Thermostat	14.50	14.5
1.00	Lower Radiator Hose	18.30	18.3
2.00.	Axle Boots	22,20	44.4
RF	PAIR ORDER-LABOR INSTRUCTIONS-OUTSIDE PROCESSING		
1.]	Repair master brake cylinder.		
1,00.	-Sleeve master brake cylinder.	110.00	110.
1.00	-Silver cadium plate brake parts and hardware.	150.00	150.
2.]	\$ D	SCA	
-	-Refit updated head gaskets.		
	-Repair carburaters.		
3.	1 1		
-	-Service radiator fan motors and detail assemblies. Fit to car.		

Subtotal Sales Tax Shipping & Handling TOTAL Continued
Continued
Continued
Continued

FERRARI REPAIR & RESTORATIONS 3841 Catalina St. #A, Los Alamitos, CA 90720

(562) 596-9242 Bar Registration Nr. AK196943

Sold To:

Customer Phone No:

Invoice Number:

21035

Invoice Date:

Feb 6, 2003

Page:

Customer ID	Payment Terms
808113b	C.O.D.
Shipping Method	Due Date
Airborne	2/6/03

Year / Model 1967 Ferrari 3306TS Mileage

45,658 mi.

N/A V.I.N.

#9791

Quantity	Description	Unit Price	Total
		A.	
	-Service defroster blower assemblies and fit to car. Blower motors were full of	ma l	
	sand and grit.	25	
	4.] Fit front & rear bumper assemblies.		
	5.] Repair front turn signal assemblies and fit to car.		
	6.] Repair rear back up lamp assemblies, replace broken lenses with good used		
	original units.		
	7.] Replate A/C hose end fittings and fit to car.	4 1	+
	8.] Fit assembled engine in car.	5	
	9.] Fit rear valance reflector assemblies. Replace with OEM Carello reflector lenses.		
	10.1 Penair trunk lid lock assembly	,	3
1.0	Market and the second of the s	110.00	110.00
	11.] Fit new exhaust system to car.	110.00	110.00
1,0		250,00	250.00
	12.] Service & detail shifter housing assembly.	250.00	250.00
	-Fit new shifter bushing.		
10	013.] Uphoster 1 pair visors.	150.00	150.00
-	14.] Fit assembled front grill & gasket.	150.00	130,00
	14.1 The assembled it only grill a gasker.		
50.0	OHOURS LABOR		
39.0	ONOURS LABOR	78.00	4,664.40
	Total Labor \$ 4,664.40		
	Total Parts \$ 1,344.90		

Subtotal Sales Tax Shipping & Handling TOTAL Continued
Continued
Continued
Continued

FERRARI REPAIR & RESTORATIONS 3841 Catalina St. #A, Los Alamitos, CA 90720

(562) 596-9242 Bar Registration Nr. AK196943

Sold To:

Customer Phone No:

Invoice Number:

21035

Invoice Date:

Feb 6, 2003

Page:

Customer ID	Payment Terms		
808113b	c.o.b.		
Shipping Method	Due Date		
Airborne	2/6/03		

Year / Model
1967 Ferrari 3306TS
Mileage
45,658 mi.

Lic. # N/A V.I.N. #9791

Quantity	Description See Land Linit Price	Tabel
Quantity	Total Outside Process. \$ 770.00 Unit Price	Total

Subtotal Sales Tax Shipping & Handling TOTAL 6,779.30 104.23 33.90 6,917.43

FERRARI REPAIR & RESTORATIONS 3841 Catalina St. #A, Los Alamitos, CA 90720

(562) 596-9242 Bar Registration Nr. AK196943

Sold To:

Quantity

Customer Phone No:

Invoice Number:

21027

Invoice Date:

May 4, 2002

Page:

Invoice

Customer ID	Payment Terms		
808113b	с.о.р.		
Shipping Method	Due Date		
Airborne	5/4/02		

Model 1967 Ferrari 3306TS Mileage

45,658 mi.

N/A V.I.N. #9791

Lic. #

Description PARTS Unit Price Total 2.00 Door Glass Channeling 2.00 Double Terminal Plugs 35.00 70.00 5.00 Michelin XWX 205VR14 Tires 2.90 5.80 5.00 Michelin Iner Tubes 345.00 1,725.00 18.00ft. Rubber Door Seals 22,50 112.50 2.00 Upper Ball Joints 8.60 154.80 2.00 Lower Ball Joints 158.40 316.80 2.00 Rear Outter Wheel Bearings 238.15 476.30 2.00 Rear Inner Wheel Bearings 66.53 133.06 59.20 118.40 REPAIR ORDER-LABOR INSTRUCTIONS-OUTSIDE PROCESSING 1.001.] Repair Becker Mexica am/fm/cassette radio. Repair & refinish horn assembly. 273.95 273.95 Mook up both doors & frames. Fit door glass, electric motors and window mechanisms. -Repair door glass mechanisms and stops. -Repair door window electric motor wiring. 4.] Assemble & fit dash and instruements in car. Prepare windshield assembly and trim and fig in car. Assemble all old interior upholstery and papiels and give to Thomas. 7.] Pick up parts from chrome plater and send to Thomas. -Lot of Chrome parts: top latches à carches, etc. 170,10 170.10

> Subtotal Sales Tax Shipping & Handling TOTAL

Continued Continued Continued Continued

FERRARI REPAIR & RESTORATIONS 3841 Catalina St. #A, Los Alamitos, CA 90720

(562) 596-9242 Bar Registration Nr. AK196943

Sold To:

Customer ID

808113b

Shipping Method

Customer Phone No:

Invoice Number:

21027

Invoice Date:

May 4, 2002

Page:

COD. Due Date

1967 Ferrari 3306TS

/ Model

Lic. # N/A

V.I.N.

Airbor	ne	5/4/02	4!	5,658 mi.		9791
Quantity		Description		1	Unit Price	Total
11	Make 3 trips to Land a fit both Assemble a fit b Repair all susper Disassemble ste -Fit on car.	le convertible top latches. Thomas' Upholstery in sar fuel tanks in car. both tail lamp assemblies in nsion, fit new bushings, and ering box, fit new seals an	n Diego to inspect and o n car. I fit on car. Id paint.	* 4		
	.] Borrani rims ref .] Grease & prep. w .] Prepare and fit! .] Check & repair	hael bearings and assemble on ca	le wheel hubs. r.		2,017.00	-2,017.00
1,00. br	Lot of electroly: ace,	s nickelplating: steering ar	me, resevoir bracket &	diternater	148.50	148.50
84.70 H	OURS LABOR		1/	-	78.00	6,606,60
To To	tal Labor tal Parts tal Outside Process. tal Credit	\$ 6,606.60 \$ 3,112.66 \$ 592.55 \$-2017.00				

Subtotal Sales Tax Shipping & Handling

TOTAL

8,294.81 241,23 43.25 8,579.29